My current method
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Error progagation Method

Measures and errors C,:=1npF AC,:=20%-C L,:=1 uH AL, :=5%-

1.2
0.8

1.05
0.95

Only for show

Czj:ﬂczz{ uF LZj:ALzz{ nH

Propagation of errors: given the functional dependency z=f(x,y) the error Az is

d d
Az =|—F (x, AX | — 1 (x, -A
‘dx (¥, v) ‘dy (x, v)|-2y
In your case: F(C,L)= 1 FZ::F(CZ, L2]=1000 kHz
JL-C
AF, = ;_CF[CZ’ L2] -AC, + Cfl—LF[CZ,, LZ] AL, =125 kHz
2 2
Finally 1125
F AF,) = H
4% {875 -
As percent of the AF,
value A%FZ ::-F—212.5%
2
You can put that Err (X):= Ax::O.S-[X _X ]
as procedures 1 2
[Xl—Ax AX]

Err(f(l), X]:: [ x 4x]:==Err (X)

‘_f( ax

Err (f(2), X, Y) [[x Ax |:=Err (X) [y Ay ]|:=Err( Y)]

—_f A
‘dx (%, v) v

A —f .
X+‘dy (x,v)
Err(f(3),X,Y, Z):=etc

Then AFZ::Err[F(C,L),CZj;ACZ,LZj:ALZ]=125kHz

Alvaro



